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Question

Expected Answers

Mk

Additional Guidance

1 tali

can be replaced (within a reasonable
timeframe};

suitable named renewable source e.g.
solar/ wave/ tidal/ biomass/ wood;

suitable named non-renewable source e.g.
coal/ oil/ natural gas;

owtte

accept ‘won't run out’
reject ‘can be used again’
allow sun, sunlight

more energy lost/ wasted;

use of 40 °C as temp difference;
substitution;
1680 000 (J);

2 suitable methods and 2 suitable explanations
eg.

double glazing;

reduces heat loss by conduction/through glass/
traps air;

loft insutation;
reduces heat loss by conduction;

Total

correctly-labelled node;

G

same wavelength/ same amplitude/ same
frequency/ same pitch/ same volume;

Any two from:

different quality/ different wave shape;
in guitar, harmonics are present/
vibrates in different modes;

at same time;

Qwe
awarded for correct spelling, punctuation and
grammar

allow 'similar’ ‘roughly’

reject noise, interference

allow average of one error
per sentence

Total

[6]
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a [i | safety belt sensor/ key sensor; 1 | allow ‘sensor’ alone
i | first three rows LOW; 1
last row HIGH; 1
iii | fasten seat belt and turn key; 1 [ BOTH required for mark
b | i | HIGH in first row, LOW in second row; 1 | BOTH required for mark
ii | the safety belt is not fastened; 1 | one mark for idea of ‘key
(and) the key is turned; 1 | and safety belt’
one mark for idea of ‘NOT
safety belit’
[ tick in 2™ box; 1 | list principle applies if
tick in 4™ box; 1 | more than 2 boxes ticked
Total 19]
a refraction; 1
b | i | deviates at entry boundary to correct side of red; 1
i | different refractive index/ different speeds (in assume answer refers to
water); 1 | inside raindrops
Total 31
a (i | correct plotting; 2 | -1 each incorrect minimum
of 0
i | suggestion for increase e.g. owtte
overalf energy use increased/ other sources
running out; 1
suggestion for non-regular change e.g. public allow for 1 mark max, a
concern/ political will/ lead in time for new power valid suggestion for
stations/ alternative sources found/ developed; 1 | decrease in 2000 data
b heat/ thermal ( in reactor/ water/ steam); 1 | energy transfers rather
kinetic/ movement energy(in turbine)/steam; 1 | than naming bits
electrical energy (in generator); 1 | reject ‘electricity’
allow heat/ thermal
energy lost/ wasted
QWC
use of at least three scientific words from this list:
heat, kinetic, turbine, reactor, thermal, fission 1
Total [8]
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a rays converge; 1 | ignore rays of light IN lens
to focus at F; 1
b substitution; 1 | correct answer and no
1.5, 1 | working = 2
c [i |Anytwo from:
insufficient evidence;
not many (scientists) with telescopes; ?
different interpretations possible; ) .
contradicting ideas of church; reject ‘believed things
hard to take on new ideas; orbit Earth’ (in stem of
idea of lack of education; 2 | question)
ii | Any one from:
checking theory (against new discoveries),
allow different theories to be compared;
make new discoveries; 1
iii | Any one from:
publication (in journals);
presentation (at conferences);
internet; 1 (?
Total 8]
a |i |[interference; 1
ii | waves ‘add up' (owtte); 1 | accept suitable diagrams
where crest meets crest/ trough meets trough; 1 | at this level
care with repeating stem
b idea of specific heat capacity (owtte); 1 | accept arguments relating
lower for sand (ora); 1 | to evaporation from sea
Total 151





